

Summary:

$$f: M \rightarrow \mathbb{R}, \quad f \in \Lambda^0 T^*M$$

$$\uparrow F(u_1, \dots, u_n)$$

$$df = \sum_{i=1}^n \frac{\partial f}{\partial u_i} du^i$$

$$\omega = \sum \omega_{i_1 \dots i_k} du^{i_1} \wedge \dots \wedge du^{i_k}$$

$$d\omega = \sum d\omega_{i_1 \dots i_k} \wedge du^{i_1} \wedge \dots \wedge du^{i_k}$$

$$= \sum \frac{\partial \omega_{i_1 \dots i_k}}{\partial u^j} du^j \wedge du^{i_1} \wedge \dots \wedge du^{i_k}$$

Important fact: $d^2 = 0$

Differential Form on $\mathbb{R}^3$	Multivariable Calculus
$\omega = P dx + Q dy + R dz$	$\nabla f(x,y,z)$
$\beta = A dy \wedge dz + B dz \wedge dx + C dx \wedge dy$	$F = P + Q + Rk$
$\frac{df}{du}$	$\nabla \cdot F$
$\frac{d\beta}{du}$	$\nabla \times F$
$\frac{d^2 f}{du^2} = 0$	$\nabla \times \nabla f = 0$
$\frac{d^2 \omega}{du^2} = 0$	$\nabla \cdot (\nabla \times F) = 0$

e.g. $\omega = -\frac{y}{x^2+y^2} dx + \frac{x}{x^2+y^2} dy$ on $\mathbb{R}^2 \setminus \{0\}$

$$d\omega = \left(\frac{\partial}{\partial y} \left(-\frac{y}{x^2+y^2} \right) \right) dx + \frac{\partial}{\partial x} \left(\frac{x}{x^2+y^2} \right) dx \wedge dy$$

$$= -\frac{(x^2+y^2) - y \cdot 2y}{(x^2+y^2)^2} dy \wedge dx + \frac{(x^2+y^2) - x \cdot 2x}{(x^2+y^2)^2} dx \wedge dy$$

$$= -\frac{(x^2-y^2)}{(x^2+y^2)^2} dy \wedge dx + \frac{(y^2-x^2)}{(x^2+y^2)^2} dx \wedge dy = 0$$

ω is closed.

$$d\left(\tan^{-1} \frac{y}{x}\right) = \omega$$

$$\Phi: M \rightarrow N$$

$$\omega \in T^*N, \quad (\Phi^* \omega) \in T^*M$$

$$(\Phi^* \omega)(X) = \omega(\Phi_* X)$$

$$\text{in } TM$$

$$G^* \circ \Phi^* F(u_i) = (v_j)$$

$$\Phi^* dv^j = \sum \frac{\partial v^j}{\partial u^i} du^i$$

$$T_1, T_2, \dots, T_k \in T^*M$$

$$T_1 \otimes \dots \otimes T_k \in T^*M \otimes \dots \otimes T^*M$$

$$: TN \times \dots \times TN \rightarrow \mathbb{R}$$

$$\Phi: M \rightarrow N, \quad \Phi^*(T_1 \otimes \dots \otimes T_k) = (\Phi^* T_1) \otimes \dots \otimes (\Phi^* T_k)$$

$$\uparrow \quad \quad \quad \uparrow \quad \quad \quad \uparrow \quad \quad \quad \uparrow$$

$$T^*M \quad T^*M \quad T^*M \quad T^*M$$

$F(u_1, u_2)$ regular surface

$$L: \Sigma^1 \rightarrow \mathbb{R}^3$$

$$P \mapsto F(u_1, u_2) = (x(u_1, u_2), y(u_1, u_2), z(u_1, u_2))$$

$$L^*(dx) = \frac{\partial x}{\partial u_1} du^1 + \frac{\partial x}{\partial u_2} du^2$$

$$L^*(dx \otimes dx) = (L^* dx) \otimes (L^* dx)$$

$$= \left(\frac{\partial x}{\partial u_1} du^1 + \frac{\partial x}{\partial u_2} du^2 \right) \otimes \left(\frac{\partial x}{\partial u_1} du^1 + \frac{\partial x}{\partial u_2} du^2 \right)$$

$$= \left(\frac{\partial x}{\partial u_1} \right)^2 du^1 \otimes du^1 + \frac{\partial x}{\partial u_1} \frac{\partial x}{\partial u_2} du^1 \otimes du^2 + \frac{\partial x}{\partial u_2} \frac{\partial x}{\partial u_1} du^2 \otimes du^1 + \left(\frac{\partial x}{\partial u_2} \right)^2 du^2 \otimes du^2$$

Check:

$$L^*(dx \otimes dx + dy \otimes dy + dz \otimes dz) = \left(\left(\frac{\partial x}{\partial u_1} \right)^2 + \left(\frac{\partial x}{\partial u_2} \right)^2 + \left(\frac{\partial y}{\partial u_1} \right)^2 + \left(\frac{\partial y}{\partial u_2} \right)^2 + \left(\frac{\partial z}{\partial u_1} \right)^2 + \left(\frac{\partial z}{\partial u_2} \right)^2 \right) du^1 \otimes du^1 + \dots$$

first fundamental form

$$= \left| \frac{\partial F}{\partial u_1} \right|^2 du^1 \otimes du^1 + \frac{\partial F}{\partial u_1} \cdot \frac{\partial F}{\partial u_2} du^1 \otimes du^2 + \frac{\partial F}{\partial u_2} \cdot \frac{\partial F}{\partial u_1} du^2 \otimes du^1 + \left| \frac{\partial F}{\partial u_2} \right|^2 du^2 \otimes du^2$$

$$g_{ij} = (F^*(g)) \left(\frac{\partial}{\partial u^i}, \frac{\partial}{\partial u^j} \right) = \frac{\partial F}{\partial u^i} \cdot \frac{\partial F}{\partial u^j}$$

$$\Phi^*(f du^1 \otimes du^1) = \left(\frac{\partial f}{\partial u^1} \right) \Phi^* du^1 \otimes \Phi^* du^1$$

$$\uparrow \quad \quad \quad \uparrow \quad \quad \quad \uparrow$$

$$f: N \rightarrow \mathbb{R} \quad f: \Phi(M) \rightarrow \mathbb{R} \quad \Phi: M \rightarrow N$$

$$dx \wedge dy = dx \otimes dy - dy \otimes dx$$

$$\Phi: M \rightarrow N$$

$$(u_1, \dots, u_m) \quad (v_1, \dots, v_n)$$

$$\Phi^*(f dv^1 \wedge \dots \wedge dv^n) = \Phi^{*f} \cdot \Phi^* dv^1 \wedge \dots \wedge \Phi^* dv^n$$

Prop. 3.5.6 (special case)

$$\Phi: M^m \rightarrow N^n$$

$$G^* = \Phi^* \circ F(u_j) = (v_j)$$

$$\Phi^*(dv^1 \wedge \dots \wedge dv^n) = \det \left(\frac{\partial v^1}{\partial u^1}, \dots, \frac{\partial v^1}{\partial u^m} \right) du^1 \wedge \dots \wedge du^m \quad \dim M^m = m = n$$

$$\Phi^*(dv^1 \wedge \dots \wedge dv^n) = \det \left(\frac{\partial v^1}{\partial u^1}, \dots, \frac{\partial v^1}{\partial u^m} \right) du^1 \wedge \dots \wedge du^m \quad \dim M^m = m = n$$

Prop. 3.5.7

$$\Phi: M^m \rightarrow N^n$$

$$\Phi^*(\omega) = \Phi^* \left(\sum \frac{\partial \omega_i}{\partial v^j} dv^j \wedge dv^k \right)$$

$$= \sum \left(\frac{\partial \omega_i}{\partial v^j} \frac{\partial v^j}{\partial u^1} \right) du^1 \wedge dv^k + \dots$$

$$= \sum \left(\frac{\partial \omega_i}{\partial v^j} \frac{\partial v^j}{\partial u^1} \right) du^1 \wedge dv^k + \dots$$

Proof (1-form)

$$\omega = \sum \omega_i dv^i$$

$$\Phi^*(\omega) = \Phi^* \left(\sum \omega_i dv^i \right)$$

$$= \sum \left(\frac{\partial \omega_i}{\partial v^j} \right) \frac{\partial v^j}{\partial u^1} du^1 + \dots$$

$$= \sum \left(\frac{\partial \omega_i}{\partial v^j} \right) \frac{\partial v^j}{\partial u^1} du^1 + \dots$$

$$= \sum \left(\frac{\partial \omega_i}{\partial v^j} \right) \frac{\partial v^j}{\partial u^1} du^1 + \dots$$

$$\Sigma^2 \subset \mathbb{R}^3 \quad \text{regular surface.}$$

$$\uparrow F(u, v) = (x(u, v), y(u, v), z(u, v))$$

$$\beta = P dy \wedge dz + Q dz \wedge dx + R dx \wedge dy \mapsto P^* + Q^* + R^*$$

$$2\text{-form in } \mathbb{R}^3$$

$$L^* \beta = P (L^* dy \wedge L^* dz) + Q (L^* dz \wedge L^* dx) + R (L^* dx \wedge L^* dy)$$

$$= P \left(\frac{\partial y}{\partial u} du + \frac{\partial y}{\partial v} dv \right) \wedge \left(\frac{\partial z}{\partial u} du + \frac{\partial z}{\partial v} dv \right) + \dots$$

$$= P \left(\frac{\partial y}{\partial u} \frac{\partial z}{\partial u} du^2 + \frac{\partial y}{\partial u} \frac{\partial z}{\partial v} du \wedge dv + \frac{\partial y}{\partial v} \frac{\partial z}{\partial u} dv \wedge du + \frac{\partial y}{\partial v} \frac{\partial z}{\partial v} dv^2 \right) + \dots$$

$$= P \left(\frac{\partial y}{\partial u} \frac{\partial z}{\partial u} du^2 + \frac{\partial y}{\partial u} \frac{\partial z}{\partial v} du \wedge dv + \frac{\partial y}{\partial v} \frac{\partial z}{\partial u} dv \wedge du + \frac{\partial y}{\partial v} \frac{\partial z}{\partial v} dv^2 \right) + \dots$$

$$= P \left(\frac{\partial y}{\partial u} \frac{\partial z}{\partial u} du^2 + \frac{\partial y}{\partial u} \frac{\partial z}{\partial v} du \wedge dv + \frac{\partial y}{\partial v} \frac{\partial z}{\partial u} dv \wedge du + \frac{\partial y}{\partial v} \frac{\partial z}{\partial v} dv^2 \right) + \dots$$

$$= \left(P^* + Q^* + R^* \right) \cdot \left(\det \left(\frac{\partial x}{\partial u}, \frac{\partial x}{\partial v} \right) du^1 \wedge du^2 + \det \left(\frac{\partial y}{\partial u}, \frac{\partial y}{\partial v} \right) du^1 \wedge dv^2 + \det \left(\frac{\partial z}{\partial u}, \frac{\partial z}{\partial v} \right) dv^1 \wedge dv^2 \right)$$

$$= \vec{V} \cdot \left(\frac{\partial F}{\partial u} \times \frac{\partial F}{\partial v} \right) du^1 \wedge dv^2$$

$$= \vec{V} \cdot \left(\frac{\partial F}{\partial u} \times \frac{\partial F}{\partial v} \right) du^1 \wedge dv^2$$

$$= \vec{V} \cdot \hat{n} d\sigma$$

$$= \vec{V} \cdot \hat{n} d\sigma$$

Stokes' Theorem.

$$\vec{F} = x\hat{i} + y\hat{j} + z\hat{k}$$

$$d\vec{F} = (dx)\hat{i} + (dy)\hat{j} + (dz)\hat{k}$$

$$\vec{V} = P\hat{i} + Q\hat{j} + R\hat{k}$$

$$\uparrow$$

$$\alpha = P dx + Q dy + R dz$$

$$d\alpha \leftrightarrow d\alpha$$

$$\hat{i} \leftrightarrow dy \wedge dz$$

$$\hat{j} \leftrightarrow dz \wedge dx$$

$$\hat{k} \leftrightarrow dx \wedge dy$$

$$\vec{F} = x\hat{i} + y\hat{j} + z\hat{k}$$

$$d\vec{F} = (dx)\hat{i} + (dy)\hat{j} + (dz)\hat{k}$$

$$\oint_C \vec{V} \cdot d\vec{r} = \iint_S (\nabla \times \vec{V}) \cdot \hat{n} d\sigma$$

$$\downarrow$$

$$\oint_C \frac{P dx + Q dy + R dz}{\alpha} = \iint_S L^* \beta = \iint_S d(\alpha)$$

$$= \oint_C \alpha = \oint_C \beta$$

$$\downarrow$$

$$\oint_C \alpha = \oint_C \beta$$

Divergence Theorem

$$\iint_S \vec{V} \cdot \hat{n} d\sigma = \iiint_D \nabla \cdot \vec{V} dV$$

$$\vec{V} = P\hat{i} + Q\hat{j} + R\hat{k} \leftrightarrow \beta = P dy \wedge dz + Q dz \wedge dx + R dx \wedge dy$$

$$\vec{V} \cdot \hat{n} d\sigma = L^* \beta$$

$$\Rightarrow \iint_S L^* \beta = \iiint_D d\beta$$

$$\vec{E} = E_x \hat{i} + E_y \hat{j} + E_z \hat{k} \leftrightarrow \vec{E}$$

$$\nabla \times \vec{E} = -\frac{\partial B}{\partial t} \hat{k}$$

$$\nabla \times \vec{B} = \vec{J} + \frac{\partial E}{\partial t} \hat{k}$$

$$E = E_x dx + E_y dy + E_z dz \leftrightarrow \vec{E}$$

$$B = B_x dy \wedge dz + B_y dz \wedge dx + B_z dx \wedge dy \leftrightarrow \vec{B}$$

$$\text{let } F = B + E \wedge dt$$

$$dF = 0$$

$$*(dx \wedge dy) = ?$$

$$\Leftrightarrow (dx \wedge dy) \wedge ? = dt \wedge dx \wedge dy \wedge dz$$

$$*(dx \wedge dy) = dt \wedge dz$$

$$*(dx \wedge dy) = dt \wedge dz$$

$$*(dx \wedge dy) = dt \wedge dz$$

$$*(dx \wedge dy) = dt \wedge dz$$

$$*(dx \wedge dy) = dt \wedge dz$$

$$*(dx \wedge dy) = dt \wedge dz$$

$$*(dx \wedge dy) = dt \wedge dz$$

$$*(dx \wedge dy) = dt \wedge dz$$

$$*(dx \wedge dy) = dt \wedge dz$$

$$*(dx \wedge dy) = dt \wedge dz$$

$$*(dx \wedge dy) = dt \wedge dz$$

$$*(dx \wedge dy) = dt \wedge dz$$

$$*(dx \wedge dy) = dt \wedge dz$$

$$*(dx \wedge dy) = dt \wedge dz$$

$$*(dx \wedge dy) = dt \wedge dz$$

$$X \in TM, \quad \omega \in \Lambda^k T^*M \quad (k\text{-form})$$

$$i_X \omega \in \Lambda^{k-1} T^*M$$

$$(i_X \omega)(Y_1, \dots, Y_{k-1}) := \omega(X, Y_1, \dots, Y_{k-1})$$

$$\text{Cartan's Magic Formula}$$

$$\omega \in \Lambda^k T^*M, \quad X \in TM$$

$$L_X \omega = i_X(d\omega) + d(i_X \omega)$$

$$L_X \omega = i_X(d\omega) + d(i_X \omega)$$

$$\text{Cor: } L_X d\eta = d(i_X d\eta) = d(L_X \eta)$$

$$d(L_X \eta) = d(i_X d\eta + L_X \eta) = d(L_X \eta)$$

$$\Rightarrow L_X d\eta = d(L_X \eta)$$

$$\text{Cor: if } \omega \in \Lambda^1 T^*M$$

$$d\omega(X, Y) = (i_X d\omega)(Y) = (L_X \omega)(Y) - \omega(L_X Y)$$

$$= \dots = X(\omega(Y)) - Y(\omega(X)) - \omega(L_X Y)$$

$$= \dots = X(\omega(Y)) - Y(\omega(X)) - \omega(L_X Y)$$

$$= \dots = X(\omega(Y)) - Y(\omega(X)) - \omega(L_X Y)$$

$$= \dots = X(\omega(Y)) - Y(\omega(X)) - \omega(L_X Y)$$

$$= \dots = X(\omega(Y)) - Y(\omega(X)) - \omega(L_X Y)$$

$$= \dots = X(\omega(Y)) - Y(\omega(X)) - \omega(L_X Y)$$

$$= \dots = X(\omega(Y)) - Y(\omega(X)) - \omega(L_X Y)$$

$$= \dots = X(\omega(Y)) - Y(\omega(X)) - \omega(L_X Y)$$

$$= \dots = X(\omega(Y)) - Y(\omega(X)) - \omega(L_X Y)$$

$$= \dots = X(\omega(Y)) - Y(\omega(X)) - \omega(L_X Y)$$

$$= \dots = X(\omega(Y)) - Y(\omega(X)) - \omega(L_X Y)$$

$$= \dots = X(\omega(Y)) - Y(\omega(X)) - \omega(L_X Y)$$

$$= \dots = X(\omega(Y)) - Y(\omega(X)) - \omega(L_X Y)$$

$$= \dots = X(\omega(Y)) - Y(\omega(X)) - \omega(L_X Y)$$

$$= \dots = X(\omega(Y)) - Y(\omega(X)) - \omega(L_X Y)$$

$$= \dots = X(\omega(Y)) - Y(\omega(X)) - \omega(L_X Y)$$

$$= \dots = X(\omega(Y)) - Y(\omega(X)) - \omega(L_X Y)$$

$$= \dots = X(\omega(Y)) - Y(\omega(X)) - \omega(L_X Y)$$

$$= \dots = X(\omega(Y)) - Y(\omega(X)) - \omega(L_X Y)$$

$$= \dots = X(\omega(Y)) - Y(\omega(X)) - \omega(L_X Y)$$

$$= \dots = X(\omega(Y)) - Y(\omega(X)) - \omega(L_X Y)$$

$$= \dots = X(\omega(Y)) - Y(\omega(X)) - \omega(L_X Y)$$

$$= \dots = X(\omega(Y)) - Y(\omega(X)) - \omega(L_X Y)$$

$$= \dots = X(\omega(Y)) - Y(\omega(X)) - \omega(L_X Y)$$

$$= \dots = X(\omega(Y)) - Y(\omega(X)) - \omega(L_X Y)$$

$$= \dots = X(\omega(Y)) - Y(\omega(X)) - \omega(L_X Y)$$

$$= \dots = X(\omega(Y)) - Y(\omega(X)) - \omega(L_X Y)$$

$$= \dots = X(\omega(Y)) - Y(\omega(X)) - \omega(L_X Y)$$

$$= \dots = X(\omega(Y)) - Y(\omega(X)) - \omega(L_X Y)$$

$$= \dots = X(\omega(Y)) - Y(\omega(X)) - \omega(L_X Y)$$

$$= \dots = X(\omega(Y)) - Y(\omega(X)) - \omega(L_X Y)$$

$$= \dots = X(\omega(Y)) - Y(\omega(X)) - \omega(L_X Y)$$

$$= \dots = X(\omega(Y)) - Y(\omega(X)) - \omega(L_X Y)$$

$$= \dots = X(\omega(Y)) - Y(\omega(X)) - \omega(L_X Y)$$

$$= \dots = X(\omega(Y)) - Y(\omega(X)) - \omega(L_X Y)$$

$$= \dots = X(\omega(Y)) - Y(\omega(X)) - \omega(L_X Y)$$

$$= \dots = X(\omega(Y)) - Y(\omega(X)) - \omega(L_X Y)$$

$$= \dots = X(\omega(Y)) - Y(\omega(X)) - \omega(L_X Y)$$

$$= \dots = X(\omega(Y)) - Y(\omega(X)) - \omega(L_X Y)$$

$$= \dots = X(\omega(Y)) - Y(\omega(X)) - \omega(L_X Y)$$

$$= \dots = X(\omega(Y)) - Y(\omega(X)) - \omega(L_X Y)$$

$$= \dots = X(\omega(Y)) - Y(\omega(X)) - \omega(L_X Y)$$

$$= \dots = X(\omega(Y)) - Y(\omega(X)) - \omega(L_X Y)$$

(Manifold with boundary)

M is C^∞ manifold with boundary

$\exists$ two families of parametrizations

$$\{F_\alpha: U_\alpha \subset \mathbb{R}^n \rightarrow M\} \text{ and } \{G_\beta: V_\beta \subset \mathbb{R}^n \rightarrow M\}$$

$$\text{s.t. } \left(\bigcup_\alpha F_\alpha(U_\alpha) \right) \cup \left(\bigcup_\beta G_\beta(V_\beta) \right) = M$$

$$\text{and } F_\alpha^{-1} \circ F_\beta, F_\alpha^{-1} \circ G_\beta, G_\alpha^{-1} \circ F_\beta, G_\alpha^{-1} \circ G_\beta$$

$$\text{are } C^\infty \text{ maps } U \times \mathbb{R} \rightarrow \mathbb{R}^n$$

$$\partial M := \bigcup_\beta \{G_\beta(v_1, \dots, v_{n-1}, 0)\}$$

$$\partial M = \bigcup_\beta \{G_\beta(v_1, \dots, v_{n-1}, 0)\}$$

$$\partial M = \bigcup_\beta \{G_\beta(v_1, \dots, v_{n-1}, 0)\}$$

$$\partial M = \bigcup_\beta \{G_\beta(v_1, \dots, v_{n-1}, 0)\}$$

$$\partial M = \bigcup_\beta \{G_\beta(v_1, \dots, v_{n-1}, 0)\}$$

$$\partial M = \bigcup_\beta \{G_\beta(v_1, \dots, v_{n-1}, 0)\}$$

$$\partial M = \bigcup_\beta \{G_\beta(v_1, \dots, v_{n-1}, 0)\}$$

$$\partial M = \bigcup_\beta \{G_\beta(v_1, \dots, v_{n-1}, 0)\}$$

$$\partial M = \bigcup_\beta \{G_\beta(v_1, \dots, v_{n-1}, 0)\}$$

$$\partial M = \bigcup_\beta \{G_\beta(v_1, \dots, v_{n-1}, 0)\}$$

$$\partial M = \bigcup_\beta \{G_\beta(v_1, \dots, v_{n-1}, 0)\}$$

$$\partial M = \bigcup_\beta \{G_\beta(v_1, \dots, v_{n-1}, 0)\}$$

$$\partial M = \bigcup_\beta \{G_\beta(v_1, \dots, v_{n-1}, 0)\}$$

$$\partial M = \bigcup_\beta \{G_\beta(v_1, \dots, v_{n-1}, 0)\}$$

$$\partial M = \bigcup_\beta \{G_\beta(v_1, \dots, v_{n-1}, 0)\}$$

$$\partial M = \bigcup_\beta \{G_\beta(v_1, \dots, v_{n-1}, 0)\}$$

$$\partial M = \bigcup_\beta \{G_\beta(v_1, \dots, v_{n-1}, 0)\}$$

$$\partial M = \bigcup_\beta \{G$$